' Top view area
| Level agreement area 1
[Peilgebied 1]

Discharge area 1 [Afvoergebied 1]
Area = 105 ha
Average ground level = +1,9 m NAP

Discharge area 4 [Afvoergebied 4]
Area = 80 ha
Average ground level = +0,2 m NAP
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Exercise version 5

Discharge area 5
[Afvoergebied 5]
Area = 60 ha
Average ground
level

= +0,5 m NAP
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Weir &’ Ditgh part 2

Discharge area 3 [Afvoergebied 3]
Area = 60 ha
Average ground level = +1,8 m NAP

¢ P Discharge area 2 [Afvoergebied 2]
Area = 40 ha
Average ground level = +2,2 m NAP

Discharge area 6 [Afvoergebied 6]
Area = 70 ha
Average ground level = +0,3 m NAP

Discharge area 7
[Afvoergebied 7]
)Area = 50 ha
Average ground level
= +0,6 m NAP

Ditch part T . 9

Mde view ditch

Ditch part 2




